Fiscal Year 2020 Snowmobile Grant-in-Aid Maintenance and Grooming Grants

Sponsor	DNR Area	Trail Map #	Club/Trail Name	FY 2020 Mile Rate	FY 2020 GPS Miles */**	FY 2020 Base Funding	FY 2020 One-Time Supplement (\$700k Or 9.7%)	FY 2020 Total Funding	Club Miles (Not Funded)
BECKER CO	1A	7	Wolf Pack	\$357	51.5	\$18,385.50	\$1,783.39	\$20,168.89	0
CASS CO	1A	93	Cass County Trails	\$404	353.3	\$142,733.20	\$13,845.12	\$156,578.32	2.7
MAHNOMEN CO	1A	95	Hardwood Trailblazers	\$334	49.7	\$16,599.80	\$1,610.18	\$18,209.98	0
MAHNOMEN CO	1A	159	Sno Drifters / Mid- Mahnomen	\$334	103.1	\$34,435.40	\$3,340.23	\$37,775.63	3.3
MAHNOMEN CO	1A	192	SE Mahnomen Co	\$334	140.7	\$46,993.80	\$4,558.40	\$51,552.20	0
WADENA CO	1A	214	Wadena County Trails	\$310	208.3	\$64,573.00	\$6,263.58	\$70,836.58	0
BECKER CO	1A	271	Midnight Riders Trails	\$357	70.8	\$25,275.60	\$2,451.73	\$27,727.33	2.5
BECKER CO	1A	272	Ultra Trails	\$357	106.1	\$37,877.70	\$3,674.14	\$41,551.84	0
BECKER CO	1A	275	Northwoods Trail Reapers	\$357	92.6	\$33,058.20	\$3,206.65	\$36,264.85	3.3
HUBBARD CO	1A	276	Forest Riders	\$404	272.0	\$109,888.00	\$10,659.14	\$120,547.14	8.8
BELTRAMI CO	1A	279	North Country Trails	\$334	373.1	\$124,615.40	\$12,087.69	\$136,703.09	0
BELTRAMI CO	1A	280	Lost River Trails	\$334	132.5	\$44,255.00	\$4,292.74	\$48,547.74	0
BELTRAMI CO	1A	281	Blackduck Stumpjumpers/ Northland Trail	\$334	114.3	\$38,176.20	\$3,703.09	\$41,879.29	0

Sponsor	DNR Area	Trail Map #	Club/Trail Name	FY 2020 Mile Rate	FY 2020 GPS Miles */**	FY 2020 Base Funding	FY 2020 One-Time Supplement (\$700k Or 9.7%)	FY 2020 Total Funding	Club Miles (Not Funded)
CLEARWATER CO	1A	285	Clearwater Trail Blazers	\$334	192.6	\$64,328.40	\$6,239.85	\$70,568.25	0
NEVIS, CITY OF	1A	287	Nevis Trailblazers/ Wilder Trails	\$404	107.2	\$43,308.80	\$4,200.95	\$47,509.75	0
OTTER TAIL CO	1B	2	Prairie Snow Drifters	\$357	33.4	\$11,923.80	\$1,156.61	\$13,080.41	1
GRANT CO	1B	94	Low Plains Drifters	\$264	147.6	\$38,966.40	\$3,779.74	\$42,746.14	11.2
OTTER TAIL CO	1B	96	Henning Sno Cruisers	\$357	45.7	\$16,314.90	\$1,582.55	\$17,897.45	12.3
CLAY CO	1B	100	Clay Trail Alliance	\$357	181.7	\$64,866.90	\$6,292.09	\$71,158.99	0
OTTER TAIL CO	1B	183	Otter Country Trail Assoc OCTA	\$357	283.4	\$101,173.80	\$9,813.86	\$110,987.66	82.4
STEVENS CO	1B	233	West Central Trailblazers	\$264	251.9	\$66,501.60	\$6,450.66	\$72,952.26	0
OTTER TAIL CO	1B	263	Otter Trail Riders	\$357	140.5	\$50,158.50	\$4,865.37	\$55,023.87	0
DOUGLAS CO	1B	284	Douglas Area Trail Assoc DATA	\$357	371.7	\$13,2696.90	\$12,871.60	\$145,568.50	0
LAKE OF THE WOODS CO	1C	6	Big Traverse	\$334	333.7	\$111,445.80	\$10,811.21	\$122,267.01	2.7

Sponsor	DNR Area	Trail Map #	Club/Trail Name	FY 2020 Mile Rate	FY 2020 GPS Miles */**	FY 2020 Base Funding	FY 2020 One-Time Supplement (\$700k Or 9.7%)	FY 2020 Total Funding	Club Miles (Not Funded)
BELTRAMI CO	1C	86	Fourtown Grygla/ Snowmobile Trails	\$334	201.5	\$67,301.00	\$6,528.20	\$73,829.20	0
KITTSON CO	1C	152	Kittson Co Trailblazers	\$334	301.9	\$100,834.60	\$9,780.96	\$110,615.56	0.7
MARSHALL CO	1C	160	MC Trails	\$334	265.6	\$88,710.40	\$8,604.91	\$97,315.31	0
PENNINGTON CO	1C	185	Wapiti & 4G North	\$334	121.7	\$40,647.80	\$3,942.84	\$44,590.64	0
FOSSTON, CITY OF	1C	199	Knightriders	\$334	209.8	\$70,073.20	\$6,797.10	\$76,870.30	11.1
TWIN VALLEY, CITY OF	1C	243	Moonshiners	\$334	85.9	\$28,690.60	\$2,782.99	\$31,473.59	32.5
MCINTOSH, CITY OF	1C	268	Polar Beach	\$334	57.8	\$19,305.20	\$1,872.60	\$21,177.80	0
POLK CO	1C	269	Sandhill Snowcruisers	\$334	154.8	\$51,703.20	\$5,015.21	\$56,718.41	0
MIDDLE RIVER, CITY OF	1C	270	Middle River/ Strathcona/ Driftskippers	\$334	123.3	\$41,182.20	\$3,994.67	\$45,176.87	23.5
LAKE OF THE WOODS CO	1C	282	Border Trails/BISF #3	\$334	0.0	\$0.00	\$0.00	\$0.00	0
ROSEAU CO	1C	288	Pelan Trail/Roseau Trailblazers/ BISF #1	\$334	348.8	\$116,499.20	\$11,300.42	\$127,799.62	17.4
RED LAKE CO	1C	292	Riverland	\$334	112.0	\$37,408.00	\$3,628.58	\$41,036.58	0

Sponsor	DNR Area	Trail Map #	Club/Trail Name	FY 2020 Mile Rate	FY 2020 GPS Miles */**	FY 2020 Base Funding	FY 2020 One-Time Supplement (\$700k Or 9.7%)	FY 2020 Total Funding	Club Miles (Not Funded)
POLK CO	1C	293	Crookston Driftbusters	\$334	60.3	\$20,140.20	\$1,953.60	\$22,093.80	20.8
PENNINGTON CO	1C	294	Riverland North	\$334	77.4	\$25,851.60	\$2,507.61	\$28,359.21	0
RED LAKE CO	1C	301	Oklee Moonlighters/ Riverland East	\$334	32.1	\$10,721.40	\$1,039.98	\$11,761.38	0
EAST GRAND FORKS, CITY OF	1C	329	Northern Lights	\$334	52.5	\$17,535.00	\$1,700.90	\$19,235.90	0
LAKE OF THE WOODS CO	1C	330	NW Angle/Island	\$334	148.5	\$49,599.00	\$4,811.10	\$54,410.10	9.8
AITKIN CO	2A	78	Haypoint	\$404	123.2	\$49,772.80	\$4,827.96	\$54,600.76	2.9
AITKIN CO	2A	79	McGrath- Finlayson	\$404	38.9	\$15,715.60	\$1,524.41	\$17,240.01	0
AITKIN CO	2A	80	Tamarack	\$404	155.3	\$62,741.20	\$6,085.90	\$68,827.10	0
AITKIN CO	2A	81	Mille Lacs	\$404	109.8	\$44,359.20	\$4,302.84	\$48,662.04	0
AITKIN CO	2A	82	Palisade	\$404	72.5	\$29,290.00	\$2,841.13	\$32,131.13	1
ITASCA CO	2A	141	Greenway #1	\$474	126.2	\$59,818.80	\$5,802.42	\$65,621.22	0
ITASCA CO	2A	142	Driftskippers #17	\$474	67.5	\$31,995.00	\$3,103.52	\$35,098.52	0
ITASCA CO	2A	143	Keystone	\$474	15.0	\$7,110.00	\$689.67	\$7,799.67	0
ITASCA CO	2A	146	Brandstrom	\$474	69.9	\$33,132.60	\$3,213.86	\$36,346.46	0
ITASCA CO	2A	147	Marcell	\$474	127.2	\$60,292.80	\$5,848.40	\$66,141.20	0
ITASCA CO	2A	148	Lawron	\$474	77.6	\$36,782.40	\$3,567.89	\$40,350.29	0

Sponsor	DNR Area	Trail Map #	Club/Trail Name	FY 2020 Mile Rate	FY 2020 GPS Miles */**	FY 2020 Base Funding	FY 2020 One-Time Supplement (\$700k Or 9.7%)	FY 2020 Total Funding	Club Miles (Not Funded)
FLOODWOOD, CITY OF	2A	198	Meadowlands	\$521	60.2	\$31,364.20	\$3,042.33	\$34,406.53	0
ALBORN, CITY OF	2A	200	Alborn	\$521	74.9	\$39,022.90	\$3,785.22	\$42,808.12	0
ITASCA CO	2A	222	Suomi	\$474	32.5	\$15,405.00	\$1,494.29	\$16,899.29	0
ITASCA CO	2A	237	Bushwackers	\$474	42.6	\$20,192.40	\$1,958.66	\$22,151.06	0.2
ITASCA CO	2A	239	Avenue of Pines	\$474	24.2	\$11,470.80	\$1,112.67	\$12,583.47	0
AITKIN CO	2A	240	Aitkin Sno Drifters	\$404	73.8	\$29,815.20	\$2,892.07	\$32,707.27	0
KOOCHICHING CO	2A	278	Blue Ox Caldwell Brook	\$474	83.6	\$39,626.40	\$3,843.76	\$43,470.16	0
ITASCA CO	2A	309	Bowstring W	\$474	58.7	\$27,823.80	\$2,698.91	\$30,522.71	0
ELY, CITY OF	2B	9	Ely Igloos	\$568	36.4	\$20,675.20	\$2,005.49	\$22,680.69	40.1
ORR, CITY OF	2B	203	Voyageur Trail Society	\$568	162.2	\$92,129.60	\$8,936.57	\$101,066.17	84
ST LOUIS CO	2B	204	Iron Ore	\$568	50.2	\$28,513.60	\$2,765.82	\$31,279.42	0
ST LOUIS CO	2B	205	Laurentian	\$568	50.3	\$28,570.40	\$2,771.33	\$31,341.73	0
ST LOUIS CO	2B	206	Chisholm/Side Lake	\$568	67.0	\$38,056.00	\$3,691.43	\$41,747.43	0
BABBITT, CITY OF	2B	297	Stony Spur and Taconite	\$568	56.4	\$32,035.20	\$3,107.41	\$35,142.61	0
ST LOUIS CO	2B	298	East Range	\$568	58.3	\$33,114.40	\$3,212.10	\$36,326.50	12.3
HOYT LAKES, CITY OF	2B	299	Moose Trail	\$568	8.8	\$4,998.40	\$484.84	\$5,483.24	0
ST LOUIS CO	2B	300	Cook Trails	\$568	73.4	\$41,691.20	\$4,044.05	\$45,735.25	0

Sponsor	DNR Area	Trail Map #	Club/Trail Name	FY 2020 Mile Rate	FY 2020 GPS Miles */**	FY 2020 Base Funding	FY 2020 One-Time Supplement (\$700k Or 9.7%)	FY 2020 Total Funding	Club Miles (Not Funded)
ST LOUIS CO	2B	304	Hawks	\$568	32.6	\$18,516.80	\$1,796.13	\$20,312.93	0
KOOCHICHING CO	2B	305	Hagerman Voyageur	\$474	155.3	\$73,612.20	\$7,140.38	\$80,752.58	0
ST LOUIS CO	2C	3	Lake Williams	\$521	35.5	\$18,495.50	\$1,794.06	\$20,289.56	0
соок со	2C	109	Lutsen	\$614	51.5	\$31,621.00	\$3,067.24	\$34,688.24	0
соок со	2C	110	Gunflint	\$614	137.9	\$84,670.60	\$8,213.05	\$92,883.65	0
LAKE CO	2C	153	Two Harbors Corridor	\$614	87.5	\$53,725.00	\$5,211.33	\$58,936.33	0
LAKE CO	2C	154	Sawtooth	\$614	30.9	\$18,972.60	\$1,840.34	\$20,812.94	0
LAKE CO	2C	155	Tomahawk	\$614	81.9	\$50,286.60	\$4,877.80	\$55,164.40	0
LAKE CO	2C	156	Red Dot	\$614	59.1	\$36,287.40	\$3,519.88	\$39,807.28	0
ST LOUIS CO	2C	196	Hermantown	\$521	27.2	\$14,171.20	\$1,374.61	\$15,545.81	0
FREDENBERG, CITY OF	2C	207	Reservoir Riders	\$521	91.4	\$47,619.40	\$4,619.08	\$52,238.48	0
DULUTH, CITY OF	2C	228	Duluth East End	\$521	18.6	\$9,690.60	\$939.99	\$10,630.59	0
DULUTH, CITY OF	2C	229	Duluth West End	\$521	14.4	\$7,502.40	\$727.73	\$8,230.13	0
соок со	2C	249	Tofte-Lynx	\$614	33.6	\$20,630.40	\$2,001.15	\$22,631.55	0
ST LOUIS CO	2C	313	Pequaywan	\$521	69.8	\$36,365.80	\$3,527.48	\$39,893.28	0
CARLTON CO	2D	89	Moosehorn	\$404	125.8	\$50,823.20	\$4,929.85	\$55,753.05	0
CARLTON CO	2D	90	Cromwell	\$404	119.3	\$48,197.20	\$4,675.13	\$52,872.33	0
CARLTON CO	2D	92	Kettle River	\$404	60.8	\$24,563.20	\$2,382.63	\$26,945.83	0

Sponsor	DNR Area	Trail Map #	Club/Trail Name	FY 2020 Mile Rate	FY 2020 GPS Miles */**	FY 2020 Base Funding	FY 2020 One-Time Supplement (\$700k Or 9.7%)	FY 2020 Total Funding	Club Miles (Not Funded)
WILLOW RIVER, CITY OF	2D	187	Pine 1,2,3	\$404	156.6	\$63,266.40	\$6,136.84	\$69,403.24	0
PINE CITY, CITY OF	2D	189	Hinckley Pine City	\$404	101.7	\$41,086.80	\$3,985.42	\$45,072.22	0
CARLTON CO	2D	238	Wood City Riders	\$404	53.2	\$21,492.80	\$2,084.80	\$23,577.60	0
CARLTON CO	2D	323	Wrenshall	\$404	6.3	\$2,545.20	\$246.88	\$2,792.08	0
CROW WING CO	2F	113	Emily-Outing Snowbirds	\$404	75.6	\$30,542.40	\$2,962.61	\$33,505.01	0
CROW WING	2F	114	Merrifield Marathons/PB	\$404	49.9	\$20,159.60	\$1,955.48	\$22,115.08	0
CROW WING	2F	115	Cuyuna Range Trails	\$404	85.5	\$34,542.00	\$3,350.57	\$37,892.57	0
CROW WING	2F	116	Baxter 1&2, PB, Pillsbury	\$404	62.0	\$25,048.00	\$2,429.66	\$27,477.66	0
CROW WING	2F	117	Garrison Trails	\$404	100.3	\$40,521.20	\$3,930.56	\$44,451.76	0
CROW WING	2F	118	Fort Ripley Trailbusters	\$404	59.6	\$24,078.40	\$2,335.60	\$26,414.00	0
CROW WING	2F	119	Ideal Sno Pros	\$404	97.9	\$39,551.60	\$3,836.51	\$43,388.11	0
CROW WING	2F	120	Gull Lake Drifters	\$404	121.4	\$49,045.60	\$4,757.42	\$53,803.02	0
CROW WING	2F	121	Brainerd Snodeos	\$404	101.0	\$40,804.00	\$3,957.99	\$44,761.99	0
BENTON CO	3A	87	Benton County Trails	\$310	100.3	\$31,093.00	\$3,016.02	\$34,109.02	0

Sponsor	DNR Area	Trail Map #	Club/Trail Name	FY 2020 Mile Rate	FY 2020 GPS Miles */**	FY 2020 Base Funding	FY 2020 One-Time Supplement (\$700k Or 9.7%)	FY 2020 Total Funding	Club Miles (Not Funded)
KANABEC CO	3A	150	East Central Riders	\$310	101.4	\$31,434.00	\$3,049.10	\$34,483.10	0
MILLE LACS CO	3A	163	Mille Lacs Trails	\$310	110.9	\$34,379.00	\$3,334.76	\$37,713.76	14.9
SHERBURNE CO	3A	209	Sherburne County Trails	\$310	183.4	\$56,854.00	\$5,514.84	\$62,368.84	10.7
STEARNS CO	3A	211	Stearns County Trails	\$310	582.3	\$180,513.00	\$17,509.76	\$198,022.76	12
WRIGHT CO	3A	219	Wright County Trails	\$310	245.6	\$76,136.00	\$7,385.19	\$83,521.19	46.3
MORRISON CO	3A	258	Morrison County Rec Trails	\$310	431.6	\$133,796.00	\$12,978.21	\$146,774.21	0
TODD CO	3A	283	Todd County Area Trails	\$310	389.4	\$120,714.00	\$11,709.26	\$132,423.26	0
MILLE LACS CO	3A	315	Rum River Sno Riders	\$310	107.1	\$33,201.00	\$3,220.50	\$36,421.50	0
ANOKA CO	3B	83	Kiwi Krossing	\$310	60.4	\$18,724.00	\$1,816.23	\$20,540.23	0
ANOKA CO	3B	84	Rice Creek	\$310	71.8	\$22,258.00	\$2,159.03	\$24,417.03	0
ANOKA CO	3B	85	Rum River	\$310	70.5	\$21,855.00	\$2,119.94	\$23,974.94	0
CHISAGO CO	3B	106	Wild River	\$310	108.9	\$33,759.00	\$3,274.62	\$37,033.62	13.4
CHISAGO CO	3B	107	North Branch Sno Drifters	\$310	53.4	\$16,554.00	\$1,605.74	\$18,159.74	0
CHISAGO CO	3B	108	Rush City Sno Bugs	\$310	54.7	\$16,957.00	\$1,644.83	\$18,601.83	0

Sponsor	DNR Area	Trail Map #	Club/Trail Name	FY 2020 Mile Rate	FY 2020 GPS Miles */**	FY 2020 Base Funding	FY 2020 One-Time Supplement (\$700k Or 9.7%)	FY 2020 Total Funding	Club Miles (Not Funded)
DAKOTA CO	3B	122	Inver Grove Heights Connection	\$310	9.9	\$3,069.00	\$297.69	\$3,366.69	0
DAKOTA CO	3B	123	Dakota County Trails	\$310	125.2	\$38,812.00	\$3,764.76	\$42,576.76	14.8
DAKOTA CO	3B	124	Waterford Warriors	\$310	56.4	\$17,484.00	\$1,695.95	\$19,179.95	0
RANDOLPH, CITY OF	3B	125	Randolph Trail	\$310	27.0	\$8,370.00	\$811.89	\$9,181.89	0
ISANTI CO	3B	138	Cambridge/ Weber/Stark/ Isanti	\$310	47.2	\$14,632.00	\$1,419.30	\$16,051.30	0
ISANTI CO	3B	139	Northern Light/Grandy/ Bock	\$310	48.0	\$14,880.00	\$1,443.36	\$16,323.36	0
ISANTI CO	3B	140	Mystic Trails	\$310	147.0	\$45,570.00	\$4,420.29	\$49,990.29	0
SCOTT CO	3B	208	Scott County Sno Trail	\$310	237.7	\$73,687.00	\$7,147.64	\$80,834.64	7.3
WASHINGTON CO	3B	216	Star Trail	\$310	130.7	\$40,517.00	\$3,930.15	\$44,447.15	0
LAKEVILLE, CITY OF	3B	223	LakeVille Sno Trackers	\$310	56.3	\$17,453.00	\$1,692.94	\$19,145.94	3.5
HENNEPIN CO	3B	224	Northwest Trails	\$310	115.6	\$35,836.00	\$3,476.09	\$39,312.09	0
CARVER CO	3B	225	Southwest Trails	\$310	99.3	\$30,783.00	\$2,985.95	\$33,768.95	13.1

Sponsor	DNR Area	Trail Map #	Club/Trail Name	FY 2020 Mile Rate	FY 2020 GPS Miles */**	FY 2020 Base Funding	FY 2020 One-Time Supplement (\$700k Or 9.7%)	FY 2020 Total Funding	Club Miles (Not Funded)
FILLMORE CO	3C	129	Valley Crest Trail	\$264	71.6	\$18,902.40	\$1,833.53	\$20,735.93	0
FILLMORE CO	3C	130	Mabel Trail Busters	\$264	52.2	\$13,780.80	\$1,336.74	\$15,117.54	0
FILLMORE CO	3C	131	Tri-County Trail	\$264	66.1	\$17,450.40	\$1,692.69	\$19,143.09	2.3
FILLMORE CO	3C	132	Hiawatha I & II	\$264	109.9	\$29,013.60	\$2,814.32	\$31,827.92	0
HOUSTON CO	3C	134	Gopherland Trail	\$264	170.1	\$44,906.40	\$4,355.92	\$49,262.32	0
HOUSTON CO	3C	135	LaCrescent Trail	\$264	62.5	\$16,500.00	\$1,600.50	\$18,100.50	5.5
HOUSTON CO	3C	136	Viking Ridge Spring Grove	\$264	72.9	\$19,245.60	\$1,866.82	\$21,112.42	0
HOUSTON CO	3C	137	Money Creek and TH 76 Trail	\$264	81.5	\$21,516.00	\$2,087.05	\$23,603.05	0
OLMSTED CO	3C	181	Driftskippers Trail	\$264	47.4	\$12,513.60	\$1,213.82	\$13,727.42	0
OLMSTED CO	3C	182	Tiger Bear I Trail	\$264	40.8	\$10,771.20	\$1,044.81	\$11,816.01	0
WABASHA CO	3C	213	Zumbrowatha- Wabasha Trail	\$264	303.8	\$80,203.20	\$7,779.71	\$87,982.91	0
WINONA CO	3C	218	Whitewater Trail	\$264	71.7	\$18,928.80	\$1,836.09	\$20,764.89	1.5
WINONA CO	3C	245	Corridor 60 - Ridgeway Trail	\$264	74.6	\$19,694.40	\$1,910.36	\$21,604.76	3.6
WINONA CO	3C	252	Corridor 70 - Rollingstone Trail	\$264	44.8	\$11,827.20	\$1,147.24	\$12,974.44	0

Sponsor	DNR Area	Trail Map #	Club/Trail Name	FY 2020 Mile Rate	FY 2020 GPS Miles */**	FY 2020 Base Funding	FY 2020 One-Time Supplement (\$700k Or 9.7%)	FY 2020 Total Funding	Club Miles (Not Funded)
WINONA CO	3C	253	Corridor 30 - Quad Link	\$264	75.3	\$19,879.20	\$1,928.28	\$21,807.48	1.3
FILLMORE CO	3C	316	Bluff Valley Trail	\$264	88.0	\$23,232.00	\$2,253.50	\$25,485.50	10.4
GOODHUE CO	3C	317	Goodhue County Trails	\$264	319.7	\$84,400.80	\$8,186.88	\$92,587.68	0
BIG STONE CO	4A	10	Big Stone Lake Sno-Riders Trail	\$264	110.6	\$29,198.40	\$2,832.24	\$32,030.64	0
YELLOW MEDICINE CO	4A	70	Snow-Drifters of Montevideo Trails	\$264	180.7	\$47,704.80	\$4,627.37	\$52,332.17	0
LAC QUI PARLE CO	4A	71	Ridge Runners Trails	\$264	186.1	\$49,130.40	\$4,765.65	\$53,896.05	0
KANDIYOHI CO	4A	151	Glacial Lakes Trail	\$264	198.3	\$52,351.20	\$5,078.07	\$57,429.27	29.5
MEEKER CO	4A	162	Meeker County Trails	\$264	125.6	\$33,158.40	\$3,216.36	\$36,374.76	0
SIBLEY CO	4A	210	Sibley County Seat Trails	\$264	133.7	\$35,296.80	\$3,423.79	\$38,720.59	18.5
RENVILLE CO	4A	234	Renville Co. Drift Runners Trail	\$264	207.5	\$54,780.00	\$5,313.66	\$60,093.66	0
MCLEOD CO	4A	242	Crow River Snowmobile Trails	\$264	161.0	\$42,504.00	\$4,122.89	\$46,626.89	0
CHIPPEWA CO	4A	251	Cross Country Trail Blazers	\$264	120.2	\$31,732.80	\$3,078.08	\$34,810.88	0

Sponsor	DNR Area	Trail Map #	Club/Trail Name	FY 2020 Mile Rate	FY 2020 GPS Miles */**	FY 2020 Base Funding	FY 2020 One-Time Supplement (\$700k Or 9.7%)	FY 2020 Total Funding	Club Miles (Not Funded)
SWIFT CO	4A	326	Northern Lights Trails	\$264	156.9	\$41,421.60	\$4,017.90	\$45,439.50	0
LINCOLN CO	4B	72	Lincoln County Drift Clippers Trail	\$264	91.2	\$24,076.80	\$2,335.45	\$26,412.25	0
COTTONWOO D CO	4B	112	Cottonwood and Jackson County Snowmobile Trails	\$264	405.5	\$107,052.00	\$10,384.04	\$117,436.04	28.8
MARTIN CO	4B	161	Prairieland Trail	\$264	139.5	\$36,828.00	\$3,572.32	\$40,400.32	0
MURRAY CO	4B	177	Beaver Creek Trail	\$264	112.7	\$29,752.80	\$2,886.02	\$32,638.82	0
NOBLES CO	4B	179	Frosty Riders Snowmobile Trails	\$264	144.9	\$38,253.60	\$3,710.60	\$41,964.20	0
PIPESTONE CO	4B	191	Hiawatha Sno Blazers Trail	\$264	123.4	\$32,577.60	\$3,160.03	\$35,737.63	0
REDWOOD CO	4B	193	Redwood Area Trails	\$264	328.9	\$86,829.60	\$8,422.47	\$95,252.07	4
ROCK CO	4B	195	Buffalo Ridge Trail	\$264	86.3	\$22,783.20	\$2,209.97	\$24,993.17	0
WATONWAN CO	4B	217	Riverside Trail	\$264	164.6	\$43,454.40	\$4,215.08	\$47,669.48	0
LYON CO	4B	250	Lyon County Trail	\$264	166.3	\$43,903.20	\$4,258.61	\$48,161.81	0
BLUE EARTH CO	4C	88	Blue Earth River Trail	\$264	134.2	\$35,428.80	\$3,436.59	\$38,865.39	17.1

Sponsor	DNR Area	Trail Map #	Club/Trail Name	FY 2020 Mile Rate	FY 2020 GPS Miles */**	FY 2020 Base Funding	FY 2020 One-Time Supplement (\$700k Or 9.7%)	FY 2020 Total Funding	Club Miles (Not Funded)
FARIBAULT CO	4C	127	Faribault County Trails	\$264	144.5	\$38,148.00	\$3,700.36	\$41,848.36	5.1
LESUEUR CO	4C	157	LeSueur County Snow Trails	\$264	156.4	\$41,289.60	\$4,005.09	\$45,294.69	0
NICOLLET CO	4C	178	MN River Valley Trails	\$264	137.2	\$36,220.80	\$3,513.42	\$39,734.22	0
WASECA CO	4C	215	Waseca County Trails	\$264	128.3	\$33,871.20	\$3,285.51	\$37,156.71	0
BROWN CO	4C	274	Brown County Trails	\$264	176.9	\$46,701.60	\$4,530.06	\$51,231.66	0
DODGE CO	4D	126	Dodge County Trails	\$264	77.4	\$20,433.60	\$1,982.06	\$22,415.66	0
GLENVILLE, CITY OF	4D	133	Freeborn County Trails	\$264	225.7	\$59,584.80	\$5,779.73	\$65,364.53	0
ADAMS, CITY OF	4D	176	Mower County Trails	\$264	184.9	\$48,813.60	\$4,734.92	\$53,548.52	0
RICE CO	4D	194	Faribo Sno-Go Trail	\$264	85.0	\$22,440.00	\$2,176.68	\$24,616.68	6
STEELE CO	4D	212	Steele County Trails	\$264	202.0	\$53,328.00	\$5,172.82	\$58,500.82	0
LONSDALE, CITY OF	4D	254	Lonsdale Snowmobile Club	\$264	18.4	\$4,857.60	\$471.19	\$5,328.79	12.7
DODGE CO	4D	302	Kasson- Mantorville Trails	\$264	18.0	\$4,752.00	\$460.94	\$5,212.94	14.1

Sponsor	DNR Area	Trail Map #	Club/Trail Name	FY 2020 Mile Rate	FY 2020 GPS Miles */**	FY 2020 Base Funding	FY 2020 One-Time Supplement (\$700k Or 9.7%)	FY 2020 Total Funding	Club Miles (Not Funded)
FRANKFORD TOWNSHIP	4D	325	Heartland Sno- Goers	\$264	83.0	\$21,912.00	\$2,125.46	\$24,037.46	0

DNR Region	FY 2020 GPS MILES */**	FY 2020 BASE FUNDING	FY 2020 ONE-TIME SUPPLEMENT (\$700K or 9.7%)	FY 2020 TOTAL FUNDING	Club Miles
1	6,511.3	\$ 2,224,765.20	\$ 215,802.22	\$ 2,440,567.42	246.0
2	4,300.7	\$ 2,043,950.20	\$ 198,263.17	\$ 2,242,213.37	140.5
3	5,524.9	\$ 1,632,085.60	\$ 158,312.30	\$ 1,790,397.90	160.6
4	5,115.8	\$ 1,350,571.20	\$ 131,005.41	\$ 1,481,576.61	135.8
Statewide Total	21,452.7	\$ 7,251,372.20	\$ 703,383.10	\$ 7,954,755.30	682.9

^{*}Only statute directed ice miles are included.

^{**}Statute Ice miles that are signed but not groomed are only counted as 0.5 mile when tallied in the grand total.